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Punkte
=

Siege Vereinsliga
x 1

Punkte x1
%

Punkte
=

(Siege BP +
Siege BL +
Siege BM)

x 2

Punkte x2
%

Punkte
=

Siege VL
x 3

Punkte x3
%

Punkte
=

(Siege OL + Siege
BYP)
x 4

Punkte x4
%

Punkte
erzielt
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1 Schöll - - - - 3 33,33% 8 66,67% 11 21 52,38%
2 Schultheiß 1 50,00% - - 6 66,67% 4 50,00% 11 19 57,89%
3 Köppl 1 100,00% - - - - 4 33,33% 5 13 38,46%
3 M.Lorentschk 1 100,00% - - - - 4 33,33% 5 13 38,46%
5 Exner 2 100,00% - - - - - - 2 2 100,00%
6 T.Lorentschk 1 100,00% - - - - - - 1 1 100,00%
7 Albert - - - - - - - - - - -
7 Hertlein 0 0,00% - - 0 0,00% 0 0,00% 0 19 0,00%
7 Schmitt - - - - - - 0 0,00% 0 12 0,00%
7 Schug - - - - - - - - - - -
7 J.Meyer - - - - - - - - - - -
7 Stürmer - - - - - - - - - - -
7 L.Meier 0 0,00% - - - - - - 0 2 0,00%
7 Wuttke 0 0,00% - - - - - - 0 1 0,00%
7 Dörfler - - - - - - - - - - -


